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QUESTION 1

In an in-path deployment, when a Steelhead appliance fails to wire, the Steelhead appliance acts as a: 

A. Straight-through cable 

B. Crossover cable 

C. Router 

D. Firewall 

E. None of the above 

Correct Answer: B 

 

QUESTION 2

The SteelHead can optimize which transport protocols? (Choose two.) 

A. UDP 

B. GRE 

C. IPSec 

D. TCP 

Correct Answer: AD 

With the Riverbed Data Streamlining technology, which applies to all TCP Traffic, including SSL, and to all WAN
Traffic(TCP and UDP), redundant bytes are eliminated from transfers. WAN bandwidth utilization is reduced by 60-95
percent. 

References: http://www.wansolutionworks.com/RiOS.asp 

 

QUESTION 3

Which of the following parameters can be used to classify traffic into QoS classes? (Select 3) 

A. Destination subnet 

B. Source subnet 

C. VLAN 

D. WCCP Mask or HASH 

E. Service Groups 

Correct Answer: ABC 
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QUESTION 4

A customer is marking QoS between the Steelhead appliances based on the application (port number) being used.
What is the recommended WAN visibility mode? 

A. Correct Addressing 

B. Port Transparency 

C. IPSec tunnel mode 

D. SSL mode 

Correct Answer: B 

 

QUESTION 5

Which two parameters are required when configuring a fixed-target rule? 

A. The target IP address and subnet mask of the target Steelhead appliance 

B. The TCP option number for auto-discovery 

C. The target Steelhead appliance and destination port number 

D. The source IP address and source port number of the client traffic 

Correct Answer: C 
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